Unit 5 Matrices Review

1. State the 4 x 4 identity matrix.

2. Explain why a 3 x 2 matric does not have an inverse,
3. True or false:
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Use the matrices below to answer questions 4-11
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4. What are the dimensions of matrix S? 7 X Y
5. Identifymthe element rzz. )
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Perform the indicated operations without a calculator. 2x2 3x2
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18 Solve the fol!owmg svstem usmg the method of your ch01ce (Cramer s-e»s@&u»ssr&n) Do notusea
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19. Solve the following systems using the indicated method.
a. Elimination , 1, b. Substitution c43 c. You plckl <
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20. Solve the following system using your calculator _ / .
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26. The first number multiplied by 2 is the opposite of the second number. The third number is
subtracted from the product of the second number and 3 to get 20. The sum of the first and third
nu%nbers is -5. _l_I)s.e azlxnsicrlx e uitloré to solve for these three numbers.
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27.Ugh![The theater d partm nt wan to be ab}e to buy an Audre /y II for Little Shop of Horrors next
year/and t¢ do so, it actually need/$20,000 total revenue from/the play. The decide t
ope for a/4th night, at 775’ cheaper price so they can make if to thei goal./Adult tickeets l] still
ice as much as student tickets. The sales for the 4th I:!éht are/exactly lik¢ the gecohd nlght
Se up and solve a mat 1x equafion that shows how much sould t}ie thegter department charge
aent=Yy 20000

for each type of ticket to hit their target revenue? Pdulr=x

YR SK|P

28. You make a VHS tape of your three favorite TV shows for your friend: Fam’f]y Guy, L(;Ist and (52;16
Tree Hill. You can completely fill the tape with 7 episodes. You want include twice as many
episodes of Lost as Family Guy. An episode of Family Guy lasts 30 minutes. An episode of Lost and
One Tree Hills lasts 60 minutes. Your VCR tape can only hold 360 minutes of recording. How

many episodes of each show can you tape? .
XFY+2="1 2~ Forily G0y
22K > - ZX +tYy+ 02=0 U - Lost .
30X+ WY*reo 27300 4 . gne tree Wil

29. Mrs. Stevens bought 15 tickets to a spaghetti supper and spent a total of $72. She bought adult

tickets for $6 each and child tickets $4 each. How many of each kind of ticket did she buy?
Xty =1s (o adolt .

30. A florist is making 5 identical bridesmaid bouquets for a wedding. She has $610 to spend
(including tax) and wants 24 flowers for each bouquet. Roses cost $6 each, tulips cost $4 each, and
Z lilies cost $3 each. She wants to have twice as many roses as the other 2 flowers combined in each
bouquet. How many roses, tulips, and lilies are in each bouquet? W\0/5 = = $122 ear—
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